Normal ordering of the SU(1,1) and SU(2) squeeze operators

C. F. Lo

Department of Physics, The Chinese University of Hong Kong, Shatin, New Territories, Hong Kong

(Received 18 August 1994)

We have derived the normal-ordered form of the SU(1,1) and SU(2) squeeze operators in the multimode bosonic representation and evaluated the coherent-state matrix elements of these operators. The analysis can be applied to any exponential functions of the generators of the Lie algebras su(1,1) and su(2) without difficulty.

PACS number(s): 42.50.Dv, 03.65.Fd, 02.20.-a

In the past decade the single- and two-mode bosonic realizations of the su(1,1) Lie algebra as well as the (twomode) Schwinger bosonic representation of the su(2) Lie algebra have been receiving a lot of attention in the study of the nonclassical properties of light in quantum optics. For instance, the linear dissipative processes in quantum optical systems can be studied with the su(1,1) Lie algebra in the framework of the Liouville space formulation [1], while beam splitters [2-4], interferometers [5], and linear directional couplers [6] are successfully described by the su(2) Lie algebra. Recently Lo and coworkers constructed the multimode bosonic realization of the Lie algebras su(1,1) and su(2) as well as the associated generalized coherent states in the multimode Fock space [7,8]. The su(1,1) generalized coherent state is, in fact, the generalized multimode squeezed vacuum state discussed by Lo and Sollie [9] and the su(1,1) unitary displacement operator can be identified as the generalized multimode squeeze operator. Similar to the singleand two-mode cases, the multimode bosonic realization of the su(1,1) Lie algebra has immediate relevance to the squeezing properties of boson fields. On the other hand, in the su(2) generalized coherent state, which exhibits the SU(2) squeezing for the su(2) generators, each bosonic mode has the sub-Poissonian statistics and the su(2) unitary displacement operator behaves like a generalized multimode rotation operator. Accordingly, these two displacement operators can be regarded as the SU(1,1)and SU(2) squeeze operators. In the present work we are interested in deriving the normal-ordered form of the SU(1,1) and SU(2) squeeze operators because normal ordering of operators is very useful in calculating the coherent-state matrix elements of the operators.

The su(2) Lie algebra consists of three generators J_0 , J_+ , and J_- satisfying the commutation relations

$$[J_0, J_{\pm}] = \pm J_{\pm} \quad , \quad [J_+, J_-] = 2J_0 \quad .$$
 (1)

In the multimode bosonic realization the three generators are defined as [7]

$$J_{0} = \sum_{i,j=1}^{N} \Lambda_{ij} a_{i}^{\dagger} a_{j} , \quad J_{+} = \sum_{i,j=1}^{N} \beta_{ij} a_{i}^{\dagger} a_{j} ,$$

$$J_{-} = J_{+}^{\dagger} = \sum_{i,j=1}^{N} \beta_{ji}^{*} a_{i}^{\dagger} a_{j} = \sum_{i,j=1}^{N} \beta_{ij}^{\dagger} a_{i}^{\dagger} a_{j} ,$$
(2)

1050-2947/95/51(2)/1706(3)/\$06.00

where $\Lambda_{ij} = \Lambda_{ij}^{\dagger} = \sum_{k=1}^{N} (\beta_{ik}\beta_{kj}^{\dagger} - \beta_{ik}^{\dagger}\beta_{kj})/2$ with the constraint that $\beta_{ij} = \sum_{k=1}^{N} \Lambda_{ik}\beta_{kj} - \beta_{ik}\Lambda_{kj}$. The corresponding SU(2) unitary displacement operator is given by $D_1(\alpha) = \exp(\alpha J_+ - \alpha^* J_-) = \exp\{i \sum_{j,k=1}^{N} \Phi_{jk}a_j^{\dagger}a_k\}$, where $i\Phi_{jk} = \alpha\beta_{jk} - \alpha^*\beta_{jk}^{\dagger}$ and $\Phi = -i(\alpha\beta - \alpha^*\beta^{\dagger})$ is Hermitian. In order to cast the operator $D_1(\alpha)$ into the normal-ordered form, we shall proceed in the following way. First of all we realize that the operator $D_1(\alpha)$ transforms the annihilation operator of each bosonic mode as follows:

$$D_1(\alpha)^{\dagger} a_j D_1(\alpha) = \sum_{k=1}^{N} [\exp(i\Phi)]_{jk} a_k ,$$
 (3)

which implies that

$$[a_{j}, D_{1}(\alpha)] = \frac{\partial}{\partial a_{j}^{\dagger}} D_{1}(\alpha)$$

$$= \sum_{k=1}^{N} \{ [\exp(i\Phi)]_{jk} - \delta_{jk} \} D_{1}(\alpha) a_{k}$$

$$= \sum_{k=1}^{N} [\exp(i\Phi) - \mathbf{I}]_{jk} D_{1}(\alpha) a_{k} \quad .$$
(4)

Then let us define the operator $\mathcal{N}(\{a_j^{\dagger}\}, \{a_j\}; \alpha)$ to be the normal-ordered form of the unitary displacement operator $D_1(\alpha)$, whose expectation value in the ordinary multimode Glauber coherent state $|\{z_j\}\rangle$ is simply given by $\langle \{z_j\}|D_1(\alpha)|\{z_j\}\rangle = \mathcal{N}(\{z_j^*\}, \{z_j\}; \alpha)$. It is straightforward to show that

$$\langle \{z_j\} | [a_k, D_1(\alpha)] | \{z_j\} \rangle = \sum_{l=1}^{N} [\exp(i\mathbf{\Phi}) - \mathbf{I}]_{kl} z_l \\ \times \mathcal{N}(\{z_j^*\}, \{z_j\}; \alpha) \\ = \frac{\partial}{\partial z_k^*} \mathcal{N}(\{z_j^*\}, \{z_j\}; \alpha) , \quad (5)$$

with the condition that $\mathcal{N}(\{z_j^*=0\}, \{z_j=0\}; \alpha) = 1$. By direct integration one can easily obtain the desired solution of the above differential equation:

<u>51</u> 1706

$$\mathcal{N}(\{z_{j}^{*}\},\{z_{j}\};\alpha) = \exp\left(\sum_{k,l=1}^{N} z_{k}^{*}[\exp(i\Phi) - I]_{kl}z_{l}\right)$$

$$= \sum_{n=0}^{\infty} \frac{1}{n!} \left(\sum_{k,l=1}^{N} z_{k}^{*}[\exp(i\Phi) - I]_{kl}z_{l}\right)^{n}$$

$$= \sum_{n=0}^{\infty} \sum_{k_{11}=0}^{n} \sum_{k_{12}=0}^{n-k_{11}} \sum_{k_{13}=0}^{n-k_{11}-k_{12}} \cdots \sum_{k_{N,N-1}=0}^{n-k_{11}-k_{12}+\dots-k_{N,N-2}} \frac{1}{k_{11}!k_{12}!k_{13}!\cdots k_{N,N-1}!k_{NN}!}$$

$$\times \{z_{1}^{*}[\exp(i\Phi) - I]_{11}z_{1}\}^{k_{11}}$$

$$\times \{z_{1}^{*}[\exp(i\Phi) - I]_{12}z_{2}\}^{k_{12}}$$

$$\times \{z_{1}^{*}[\exp(i\Phi) - I]_{13}z_{3}\}^{k_{13}}$$

$$\times \cdots \{z_{N}^{*}[\exp(i\Phi) - I]_{N,N-1}z_{N-1}\}^{k_{N,N-1}}$$

$$\times \{z_{N}^{*}[\exp(i\Phi) - I]_{NN}z_{N}\}^{k_{NN}}$$

$$= \sum_{n=0}^{\infty} \sum_{\{k_{lm}\}} \left(\prod_{r,s=1}^{N} \frac{\{[\exp(i\Phi) - I]_{rs}\}^{k_{rs}}}{k_{rs}!}\right) \left(\prod_{p=1}^{N} (z_{p}^{*})^{L_{p}}\right) \left(\prod_{q=1}^{N} (z_{q})^{M_{q}}\right) , \qquad (6)$$

where $\sum_{l,m=1}^{N} k_{lm} = n$, $L_p = \sum_{j=1}^{N} k_{pj}$, $M_q = \sum_{j=1}^{N} k_{jq}$, and $\sum_{\{k_{lm}\}}$ denotes the summation over all possible partitions of $n = \sum_{l,m=1}^{N} k_{lm}$. As a result, the normalordered form of the displacement operator $D_1(\alpha)$ is simply given by

$$D_{1}(\alpha) = \mathcal{N}(\{a_{j}^{\dagger}\}, \{a_{j}\}; \alpha)$$

$$= \sum_{n=0}^{\infty} \sum_{\{k_{lm}\}} \left(\prod_{r,s=1}^{N} \frac{\{[\exp(i\Phi) - I]_{rs}\}^{k_{rs}}}{k_{rs}!} \right)$$

$$\times \left(\prod_{p=1}^{N} (a_{p}^{\dagger})^{L_{p}} \right) \left(\prod_{q=1}^{N} (a_{q})^{M_{q}} \right).$$
(7)

Next we consider the case of su(1,1) Lie algebra whose three generators obey the commutation relations

$$[K_0, K_{\pm}] = \pm K_{\pm} \quad , \quad [K_+, K_-] = -2K_0 \quad . \tag{8}$$

In the multimode bosonic representation the three generators are given by [8]

$$K_{+} = \frac{1}{2} \sum_{i,j=1}^{N} \mu_{ij} a_{i}^{\dagger} a_{j}^{\dagger} , \quad K_{-} = \frac{1}{2} \sum_{i,j=1}^{N} \mu_{ij}^{*} a_{i} a_{j} ,$$

$$K_{0} = \sum_{i,j=1}^{N} \gamma_{ij} (2a_{i}^{\dagger} a_{j} + \delta_{ij}) , \qquad (9)$$

where $\mu_{ij} = \mu_{ji}$ and $\gamma_{ij} = \gamma_{ij}^{\dagger} = 4^{-1} \sum_{k=1}^{N} \mu_{ik} \mu_{kj}^{*}$ with the requirement that $\mu_{ij} = \sum_{k,l=1}^{N} \mu_{ik} \mu_{kl}^{\dagger} \mu_{lj}$. The SU(1,1) unitary displacement operator is given by $D_2(\alpha) = \exp(\alpha K_+ - \alpha^* K_-)$, which can be cast into the following disentangled form [10]:

$$D_{2}(\alpha) = \exp\{\Gamma_{+}K_{+}\}\exp\{\ln(\Gamma_{0})K_{0}\}\exp\{\Gamma_{-}K_{-}\}$$
$$= \Gamma_{0}^{\mathrm{Tr}\{\boldsymbol{\gamma}\}}\exp\left(\frac{1}{2}\Gamma_{+}\sum_{i,j=1}^{N}\mu_{ij}a_{i}^{\dagger}a_{j}^{\dagger}\right)$$
$$\times \exp\left(2\ln(\Gamma_{0})\sum_{i,j=1}^{N}\gamma_{ij}a_{i}^{\dagger}a_{j}\right)$$
$$\times \exp\left(\frac{1}{2}\Gamma_{-}\sum_{i,j=1}^{N}\mu_{ij}^{*}a_{i}a_{j}\right), \qquad (10)$$

where $\alpha = re^{i\theta}$, $\Gamma_0 = [\cosh(r)]^{-2}$, $\Gamma_{\pm} = \pm e^{\pm i\theta} \tanh(r)$, and Tr $\{\gamma\} = \sum_{i=1}^{N} \gamma_{ii}$. It is clear that by applying the analysis of the SU(2) case, this disentangled form will then yield the normal-ordered form readily:

$$D_{2}(\alpha) = \Gamma_{0}^{\mathrm{Tr}\{\boldsymbol{\gamma}\}} \exp\left(\frac{1}{2}\Gamma_{+}\sum_{i,j=1}^{N}\mu_{ij}a_{i}^{\dagger}a_{j}^{\dagger}\right)$$

$$\times \sum_{n=0}^{\infty} \sum_{\{k_{im}\}} \left(\prod_{r,s=1}^{N}\frac{\left(\{\exp[2\ln(\Gamma_{0})\boldsymbol{\gamma}] - \boldsymbol{I}\}_{rs}\right)^{k_{rs}}}{k_{rs}!}\right)$$

$$\times \left(\prod_{p=1}^{N}(a_{p}^{\dagger})^{L_{p}}\right) \left(\prod_{q=1}^{N}(a_{q})^{M_{q}}\right) \exp\left(\frac{1}{2}\Gamma_{-}\sum_{i,j=1}^{N}\mu_{ij}^{*}a_{i}a_{j}\right).$$
(11)

BRIEF REPORTS

Furthermore, with the SU(1,1) and SU(2) displacement operators in the normal-ordered form, it is straightforward to evaluate the coherent-state matrix elements of these operators as follows:

$$\langle \{\xi_j\} | D_1(\alpha) | \{z_j\} \rangle = \exp\left(\sum_{k,l=1}^N \xi_k^* [\exp(i\mathbf{\Phi}) - \mathbf{I}]_{kl} z_l\right) \langle \{\xi_j\} | \{z_j\} \rangle ,$$

$$\langle \{\xi_j\} | D_2(\alpha) | \{z_j\} \rangle = \Gamma_0^{\mathrm{Tr}\{\boldsymbol{\gamma}\}} \exp\left(\frac{1}{2} \Gamma_+ \sum_{i,j=1}^N \mu_{ij} \xi_i^* \xi_j^*\right) \exp\left(\sum_{k,l=1}^N \xi_k^* \{\exp[2\ln(\Gamma_0)\boldsymbol{\gamma}] - \mathbf{I}\}_{kl} z_l\right)$$

$$\times \exp\left(\frac{1}{2} \Gamma_- \sum_{i,j=1}^N \mu_{ij}^* z_i z_j\right) \langle \{\xi_j\} | \{z_j\} \rangle ,$$

$$(12)$$

where

$$egin{aligned} &\langle \{\xi_j\} | \{z_j\}
angle &= \prod_{j=1}^N \langle \xi_j | z_j
angle \ &= \prod_{j=1}^N \exp\{\xi_j^* z_j - (|\xi_j|^2 + |z_j|^2)/2\} \ . \end{aligned}$$

In summary, we have derived the normal-ordered form

[1] M. Ban, J. Math. Phys. 33, 3213 (1992).

• •

- [2] S. Prasad, M.O. Scully, and W. Martienssen, Opt. Commun. 62, 139 (1987).
- [3] B. Huttner and Y. Ben-Aryeh, Phys. Rev. A 38, 204 (1988).
- [4] R.A. Campos, B.E. Saleh, and M.C. Teich, Phys. Rev. A 40, 1371 (1989).
- [5] B. Yurke, S.L. McCall, and J.R. Klauder, Phys. Rev. A

of the SU(1,1) and SU(2) squeeze operators in the multimode bosonic representation and evaluated the coherentstate matrix elements of these operators. The analysis can be applied to any exponential functions of the generators of the Lie algebras su(1,1) and su(2) without difficulty.

This work is partially supported by the Direct Grant for Research from the Research Grants Council of the Hong Kong Government.

33, 4033 (1986).

- [6] W.K. Lai, V. Buzek, and P.L. Knight, Phys. Rev. A 43, 6323 (1991).
- [7] C.F. Lo and D. Kiang, Phys. Rev. A 50, 2781 (1994).
- [8] C.F. Lo and K.L. Liu, Phys. Rev. A 48, 3362 (1993).
- [9] C.F. Lo and R. Sollie, Phys. Rev. A 47, 733 (1993).
- [10] K. Wódkiewicz and J.H. Eberly, J. Opt. Soc. Am. B 2, 458 (1985).